


CI1IOXEHUE

a+b=c

10 + &5 = 15

neppoe BTOpOe CyMMa
cnaraemoe cnaraemoe

BbIYHNUTAHUE

a-b=c

10 - 3 =7

YMeéHbllaemMmoe BbliuTaemoe pa3HOCTb



YMHOXEHUE

ab=c
3 - 4 = 12
nepBbIn BTOpPOM npousBeaeHue

MHOXWUTelNlb MHOXWUTerlb

OEJNNEHUE

a:b=c

16 : 2 = 8

aennmoe genuntenb 4acTHoOe




YBEJIMMUTDb YMEHbBLWWUTb
HA HA
HECKOJbKO HECKOJbKO
eavHuy eavHuy
YBEJIUYUTDb YMEHbBLUTb
B B
HECKOINbKO HECKOINbKO
pa3 pa3




UTOObI y3HaTD,
HA CKOJIbKO

OAHO Yuncno donblue
NN MeHbLUE OpYroro,
BbIMOSHAN OENCTBUE

BbIYMUTAHUE

UTOObI y3HaTD,
BO CKOJIbKO PA3

OQHO Yumcno donbLue
NN MEHbLUE OPYroro,
BbINOMHAN OEeNCTBUEe

OENEHUE



